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LOGARITHMS

Example

1. If  then choose the correct answer of 2log (

x - y) form the following option :

A. logx- logy

B. logx + logy

C. log(xy)

x2 + y2 = 3xy

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_wLGiYZXiWo5y


D. both(b) and ( c)

Answer: B

Watch Video Solution

2. Choose the correct answer answer from the following

option for :  


(A) 0 (B) 1 (c )  (D) undefined

Watch Video Solution

[log4{log3(log3 27)}] =

log2 3

3. If log2= 0,301 , then the find the number of digital in 

from the following options. 

(A) 307 (B) 308 ( C) 309 (D) 310

21024

https://dl.doubtnut.com/l/_wLGiYZXiWo5y
https://dl.doubtnut.com/l/_4BmV5N8mzNg3
https://dl.doubtnut.com/l/_G89WI8luO6pH


Watch Video Solution

4. Express -0,52e29 in the standard form and locate it on the

number line.

Watch Video Solution

5. compare : log 25, log 250 and log0.025

Watch Video Solution

6. compare : log 2.56, log0.256 and log 25600

Watch Video Solution

https://dl.doubtnut.com/l/_G89WI8luO6pH
https://dl.doubtnut.com/l/_S3z77P6dSGJB
https://dl.doubtnut.com/l/_xxl91o2AY5in
https://dl.doubtnut.com/l/_bc6tjy3gjaaL
https://dl.doubtnut.com/l/_SZxGyo3EK9HX


7. Find the value of log2.556 and log 25.460

View Text Solution

8. To find the antilog of 1.301 .

View Text Solution

9. To find the antilog of 2.3246.

View Text Solution

10. Find the value of  to four significant

digits.

W t h Vid S l ti

5.431 × 0.061

12.38 × 0.041

https://dl.doubtnut.com/l/_SZxGyo3EK9HX
https://dl.doubtnut.com/l/_7ogkVH8AY1jA
https://dl.doubtnut.com/l/_thxFUFR5PdPQ
https://dl.doubtnut.com/l/_6w6bSccBJjPA


Very Short Answer

Watch Video Solution

11. If  find the value

of 

Watch Video Solution

log10 3 = 0.4771 and log10 2 = 0.3010

log10 48

1.  = ______

Watch Video Solution

logx A
n

2. Expand 

W t h Vid S l ti

log3( )
xy2

z3

https://dl.doubtnut.com/l/_6w6bSccBJjPA
https://dl.doubtnut.com/l/_732hnKGxxS4y
https://dl.doubtnut.com/l/_ExkUqR5HRvlp
https://dl.doubtnut.com/l/_vVbsJNiziae9


Watch Video Solution

3. Can we write  ?

Watch Video Solution

as
logx a

b

logx a

logx b

4. Express 0.001 =  in the logarithmic form

Watch Video Solution

(0.1)3

5.  = _______

Watch Video Solution

2 logs 2

https://dl.doubtnut.com/l/_vVbsJNiziae9
https://dl.doubtnut.com/l/_E6ApuILgmg6P
https://dl.doubtnut.com/l/_KV4qk9GcHqcj
https://dl.doubtnut.com/l/_6112hRQwok9L


6.  = _____

Watch Video Solution

log5 2 + log5 20 − log5 8

7. The value of  is _______

Watch Video Solution

3 + log10 (10)
2

log5 5

8.  . State true of False.

Watch Video Solution

logx ab = (logx a) × (logx b)

9. If  = 0.3010 , then  =

Watch Video Solution

log10 2 log10 2000

https://dl.doubtnut.com/l/_ke86foWijrX4
https://dl.doubtnut.com/l/_EOfFuMHIYWNY
https://dl.doubtnut.com/l/_PQ73rJXTj0bM
https://dl.doubtnut.com/l/_NKP4DnOWNtIS


10. Evaluate 3 - 

Watch Video Solution

log10 100

11. Given 3= . Then the value of x=______

Watch Video Solution

log2 x + 4 log2 8

12. If , then = _______

Watch Video Solution

log10 2 = 0.3010 log10 5

https://dl.doubtnut.com/l/_NKP4DnOWNtIS
https://dl.doubtnut.com/l/_0vKgzNjgDO4Y
https://dl.doubtnut.com/l/_Q8C3qiCGvhV1
https://dl.doubtnut.com/l/_3DnpGkF29guM


13. If x=  then  in terms of x,y is

equal to _______

Watch Video Solution

log5 3 and y = log5 8 log5 24

14. if then k = _____

Watch Video Solution

log16 25 = k log2 5

15. If 5 log3 + log x = 5log6 , then k = ______

Watch Video Solution

16. if logx=  , then k =______( )
kloga x

loga x

https://dl.doubtnut.com/l/_HNHdQTmFlYy5
https://dl.doubtnut.com/l/_axa6jnxyOGqp
https://dl.doubtnut.com/l/_EE9uyfPcb8LG
https://dl.doubtnut.com/l/_zfF4sfklId5K


Watch Video Solution

17. if  then which is greater ,

 ?

Watch Video Solution

a > and m > n

logam( or )loga n

18. if 2logx + 2log y = k and xy =1, then k = _____

Watch Video Solution

19. if log 198.9 = 2.2987 , then the characteristic of log 198.9=

and mantissa of log 198.9 = _______

Watch Video Solution

https://dl.doubtnut.com/l/_zfF4sfklId5K
https://dl.doubtnut.com/l/_cx4ZAcbnfPxw
https://dl.doubtnut.com/l/_Er9QaxJtoLFE
https://dl.doubtnut.com/l/_2T7OTr2KX7ZP


20. When , then which is greater , 

 ?

Watch Video Solution

a > 1 and m > n

logam( or )loga n

21. Given  if the characteristic of y is 10, then the

number of digits to the left the decimal point in x is ______

Watch Video Solution

log10 x = y

22. find the value of 

Watch Video Solution

log√8 16

https://dl.doubtnut.com/l/_2T7OTr2KX7ZP
https://dl.doubtnut.com/l/_jRsJXZrwWZD6
https://dl.doubtnut.com/l/_S510CfDtm1b0
https://dl.doubtnut.com/l/_5vStRudOaFOi
https://dl.doubtnut.com/l/_zENnmILvO9rq


23.  = ______

Watch Video Solution

logx x × logy y × logz z

24. if the characteristics of the logarithm of two numbers

acbd.abef and a .bcdabef are x and y respectively, then x-y=

_______

Watch Video Solution

25. If log2= 0.3010 , log3 = 0.4771 and log 7 = 0.8451 then find

the values of log105.

Watch Video Solution

https://dl.doubtnut.com/l/_zENnmILvO9rq
https://dl.doubtnut.com/l/_NQyg8GV3qGcT
https://dl.doubtnut.com/l/_Kk2kaLY007sO


26. Given antilog (2.375) =x Characteristic of log x is ______

Watch Video Solution

27. if log (21.73) = 1.3371 , then find the values of log (2.173)

Watch Video Solution

28. If antilog ( 0.2156) = 1.643, then find the values of antilog

(1.2156)

Watch Video Solution

https://dl.doubtnut.com/l/_a2VlaSQRFx8f
https://dl.doubtnut.com/l/_SpbbKU8oiHHK
https://dl.doubtnut.com/l/_SDSkThvaArR2


Short Answer Type Questions

29. wihout using the logarithm tables find the value of

Watch Video Solution

3 log3 27

30. find the value of 

Watch Video Solution

log0.6( )
9

25

1. Prove that log5040 = 4log2 + 2log3 + log5 + log7

Watch Video Solution

https://dl.doubtnut.com/l/_sF3qGRJyjpgZ
https://dl.doubtnut.com/l/_AEu9JJcddLCS
https://dl.doubtnut.com/l/_MnABUCdjixSO
https://dl.doubtnut.com/l/_LSE5NNwOeBvz


2. find the value of 

Watch Video Solution

log2 − 1(0.0625)

3. Express the following as a single logarithm. 

Watch Video Solution

logx − logy + log z
1

3

8

5

7
2

4. if  xy then prove that 2log(x+y) = 3log 3 + log

x + logy.

Watch Video Solution

x2 + y2 = 25

https://dl.doubtnut.com/l/_LSE5NNwOeBvz
https://dl.doubtnut.com/l/_DiUkkRBN0Blo
https://dl.doubtnut.com/l/_BBETYeztrlID


5.  then prove that 

Watch Video Solution

if x2 + y2 = z2

logy(z + x) + logy(z − x) = 2

6. Prove that 

Watch Video Solution

log2[log4{log5 (625)4}] = 1

7. if , then find the number of digits in 

Watch Video Solution

log10 2 = 0.3010

(16)10

https://dl.doubtnut.com/l/_DpHZpBi25Zn1
https://dl.doubtnut.com/l/_OUAHghneaM8f
https://dl.doubtnut.com/l/_UTQQaSoufl7Z


8. If log2= 0.3010, log3= 0.4771 and log 7 = 0.8451 then find

the value of log 75.

Watch Video Solution

9. if  then prove that  =

logx + logy.

Watch Video Solution

x4 + y4 = 83x2y2 log( )
x2 − y2

9

10. prove that 

.

Watch Video Solution

2 + 2 + log 48 + 21 log( ) = log( )
log 35

192

log 114

91

13

19
75
64

https://dl.doubtnut.com/l/_LkRJsBZklxiu
https://dl.doubtnut.com/l/_O6Wa6WNqTrJb
https://dl.doubtnut.com/l/_RX4fRu6FtrHD
https://dl.doubtnut.com/l/_z6h0F8EiFS7Q


11. solve for x: 

logx + log5 = 2+ log 64

Watch Video Solution

12. if  then prove that

Watch Video Solution

x4 − y4 − x2y2 − 2xy3 = z6

logz(x
2 − y2 − xy) + logz(x

2 + y2 + xy) = 6

13. Find the value of 

Watch Video Solution

4√(32)
8

https://dl.doubtnut.com/l/_z6h0F8EiFS7Q
https://dl.doubtnut.com/l/_OIO80ePsFbW1
https://dl.doubtnut.com/l/_exnabumred3D


Essay Type Questions

14. Find the value of 

Watch Video Solution

3√[0.123]

15. Given log 3= 0.4771 ,then the number of digits in  is

_______

Watch Video Solution

31000

1. if  find x.

Watch Video Solution

logx+ 1 2x − 1 + log2x− 1 x + 1 = 2

https://dl.doubtnut.com/l/_Wa7X4Ae2luqL
https://dl.doubtnut.com/l/_ITeqTD0YYyR2
https://dl.doubtnut.com/l/_5fvb06Fp5u85
https://dl.doubtnut.com/l/_IkS8cwaZSDAw


2. If  find .

Watch Video Solution

a = b1 / 3 = c1 / 5 = d1 / 7 = e1 / 9 loga abcde

3. Arrange th following in ascending order.

 

Watch Video Solution

A = log9 6561B = log√5 625 C = log√3 243D = log√2 256

4. If  find y.

Watch Video Solution

logy x − logy3 x
2 = 9(logx y)2 and x = 9y

https://dl.doubtnut.com/l/_IkS8cwaZSDAw
https://dl.doubtnut.com/l/_NPAN1gEXna9K
https://dl.doubtnut.com/l/_BQGUwUD6Geis


Level 1

5. 

Watch Video Solution

log( ) + log( ) + log( ) + …… + log( ) = ?
a2

b

a4

b3

a6

b3

a2n

bn

1.  =________.

A. 

B. 

C. 

D. 

logy ( x ) × logx y

loga y

logx a

logy a

loga x

https://dl.doubtnut.com/l/_XARfC9FPbHdu
https://dl.doubtnut.com/l/_OOkJjSq8nSJh


Answer: B

Watch Video Solution

2. if log x= 123.242 , then the characteristic of log x is

A. 0.242

B. 122

C. 123

D. 124

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_OOkJjSq8nSJh
https://dl.doubtnut.com/l/_1V4D4Ghotbc9


3. Pick up the false statement. 

Logarithms are defind only for positive real numbers. 

(B)  is always unique. 


© the for from of  

(D) log1=0

A. B

B. C

C. D

D. A

Answer: B

Watch Video Solution

logaN

23 = 8is3 = log8 2

https://dl.doubtnut.com/l/_u2nSXyw0RFOb


4. 

A. 1

B. 0

C. 

D. 

Answer: B

Watch Video Solution

log( ) − 2 log 13 + 2 log 3 = ?
169

9

log( )
13

3

log( )
x

yz

5. =?

A. 2(logx + logy - logz)

B. logx +logy - logz

logz2 ( x2y2 )

https://dl.doubtnut.com/l/_fR7XiS2Ij4ly
https://dl.doubtnut.com/l/_VsHkz4YACXQL


C. 

D. 

Answer: D

Watch Video Solution

logx2 = logy

log z

logx + logy

log z

6. If  then = ______

A. 0

B. 1

C. Undefined

D. None of these

Answer: C

x3 − y2 = 3xy(x − y) log(x − y)3

https://dl.doubtnut.com/l/_VsHkz4YACXQL
https://dl.doubtnut.com/l/_HwORIEUkySOQ


Watch Video Solution

7.  =_______

A. 

B. 0

C. log 1

D. Both (b) and ©

Answer: D

Watch Video Solution

log(a3 + b3) − log(a + b) − log(a2 − ab + b2)

a3 − b3

8. which is greatest among the following :

https://dl.doubtnut.com/l/_HwORIEUkySOQ
https://dl.doubtnut.com/l/_7kjxg6R7luya
https://dl.doubtnut.com/l/_secOjs2h1N42


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

log2 20

log7 35

log5 70

log3 68

9. `log (a+b) + log (a-b) - log (a^(2) -b^(2))=______

A. 0

B. 1

C. 

D. 

(a2 − b2)

a2 + b2

https://dl.doubtnut.com/l/_secOjs2h1N42
https://dl.doubtnut.com/l/_z5TAtRRBd78a


Answer: A

Watch Video Solution

10. if  the  = _______

Watch Video Solution

x3 + y3 = − 3xy(x + y). log(x + y)3

11. if  , then the relation between x and y.

A. 

B. 

C. 

D. 

=
logx

logy

log 49

log 7

x = √y

x = y3

y = x2

x = y2

https://dl.doubtnut.com/l/_z5TAtRRBd78a
https://dl.doubtnut.com/l/_cX9UdD4dH4os
https://dl.doubtnut.com/l/_bcnuu1z84c2L


Answer: D

Watch Video Solution

12. log(x) -log(2x-3)=1 then x = ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

30

19

20

19

19

30

19

20

https://dl.doubtnut.com/l/_bcnuu1z84c2L
https://dl.doubtnut.com/l/_QdDMrzAOsWZ2


13. If 2log(x+4) = log 16, then x=?

A. 0,-8

B. 

C. 

D. 0

Answer: D

Watch Video Solution

−8

−2

14. the value of x when ,is

A. 7

B. 8

logx 343 = 3

https://dl.doubtnut.com/l/_JOZ0qLnqaJy4
https://dl.doubtnut.com/l/_Il6IHvW913sz


C. 3

D. 27

Answer: A

Watch Video Solution

15. =_______

A. 

B. 

C. 

D. 

Answer: B

log16 3. log17 4, log9 17

1

2

1

4

1

8

2

3

https://dl.doubtnut.com/l/_Il6IHvW913sz
https://dl.doubtnut.com/l/_67wdhNg6yNXw


Watch Video Solution

16.  =

A. 1

B. 0

C. log 3

D. Undefined

Answer: B

Watch Video Solution

log2[log2{log2(log3 81)}]

17.  =_____log11 3. log3 1331

https://dl.doubtnut.com/l/_67wdhNg6yNXw
https://dl.doubtnut.com/l/_10dWOLWVjyzi
https://dl.doubtnut.com/l/_XYlOfpFGFpFO


A. 3

B. 11

C. 121

D. 9

Answer: A

Watch Video Solution

18. = ____

A. 11

B. 121

C. 0

log121( )
√14641

121

https://dl.doubtnut.com/l/_XYlOfpFGFpFO
https://dl.doubtnut.com/l/_W32A0RVyuVCr


D. 1

Answer: C

Watch Video Solution

19.  = ______

A. 9

B. 4

C. 

D. 

Answer: C

Watch Video Solution

log3 729 + log6 216

4 + log2 16 − 2 log4 64

9

2

1

2

https://dl.doubtnut.com/l/_W32A0RVyuVCr
https://dl.doubtnut.com/l/_aku1IWvgYKBE


20. The value of  is

A. 

B. mn

C. 

D. 

Answer: A

Watch Video Solution

logxn y
m

m

n

mn

nm

21.  then = ______

A. -2

logy x = 2 a loga(logx y)

https://dl.doubtnut.com/l/_aku1IWvgYKBE
https://dl.doubtnut.com/l/_ZvvsFJFlNtz5
https://dl.doubtnut.com/l/_652QbxbuiGpc


B. 4

C. 

D. 

Answer: C

Watch Video Solution

1

2

−1

4

22. if p=  then = ______

Watch Video Solution

log6 216 and q = log3 27 pq

23.  = ______

A. 16

216 − log2 1024

https://dl.doubtnut.com/l/_652QbxbuiGpc
https://dl.doubtnut.com/l/_Fsy2iI3N13kL
https://dl.doubtnut.com/l/_mtq0StAt7EJk


B. 32

C. 64

D. 8

Answer: C

Watch Video Solution

24.  - = ______

A. 8

B. 4

C. 9

D. 2

23 log2 2 32 log3 2

https://dl.doubtnut.com/l/_mtq0StAt7EJk
https://dl.doubtnut.com/l/_zN8HFs1zzIpR


Answer: B

Watch Video Solution

25. = ________

A. 

B. 2

C. a+b

D. 2

Answer: D

Watch Video Solution

loga+ b(a
3 + b3) − loga+ b(a

2 − ab + b2)

loga+ b _ (a − b)

https://dl.doubtnut.com/l/_zN8HFs1zzIpR
https://dl.doubtnut.com/l/_5NsH9bKSuC8I


26. = ______

A. 25

B. 5

C. 16

D. 4

Answer: B

Watch Video Solution

16log16 25

27.  = _______ ?

A. 1

B. 2

1

logxy x + logxy y

https://dl.doubtnut.com/l/_ywtlU0Ko4NGt
https://dl.doubtnut.com/l/_vzfl2QIXwx7f


C. 0

D. 

Answer: D

Watch Video Solution

1

logxy x × logxy y

28.  ,then find y.

A. 4

B. 8

C. 2

D. 32

Answer: C

if y = = logx− 3(x
2 − 6x + 9)

https://dl.doubtnut.com/l/_vzfl2QIXwx7f
https://dl.doubtnut.com/l/_O5i1pIr1ZJRP


Level 2 Mcq

Watch Video Solution

1. If , then the number of digits in  is

A. 14

B. 15

C. 13

D. 16

Answer: B

Watch Video Solution

log10 2 = 0.3010 1612

https://dl.doubtnut.com/l/_O5i1pIr1ZJRP
https://dl.doubtnut.com/l/_BjIcQdJzSJoK


2. = ______

A. 16

B. 2

C. 32

D. 1

Answer: D

Watch Video Solution

if log64 P
2 = 1 then

2

3

log2 p

16

3. = _______

A. 4

B. 8

log2 log9 log5 125

https://dl.doubtnut.com/l/_DgkhZBI7Ae9X
https://dl.doubtnut.com/l/_KgVFLVrJgIO5


C. -1

D. 1

Answer: C

Watch Video Solution

4. If  then the value of P is

A. 

B. 

C. 

D. 

Answer: C

logx y =
loga y

P

logy x

logx a

loga x

loga y

https://dl.doubtnut.com/l/_KgVFLVrJgIO5
https://dl.doubtnut.com/l/_Si4Gy8IRfY8e


Watch Video Solution

5. =_______

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

log[ ]
3√x2 × y

5√z2

logx2 / 3 − log z2 / 5 + logy

logx3 / 2 − logy − log z5 / 2

logx2 / 3 − logy + log z2 / 5

6. if  find xlog[4 − 5 log32(x + 3)] = 0

https://dl.doubtnut.com/l/_Si4Gy8IRfY8e
https://dl.doubtnut.com/l/_BBeU1PBIKBfw
https://dl.doubtnut.com/l/_Msv0JpsXKxUt


A. 32

B. 8

C. 3

D. 5

Answer: D

Watch Video Solution

7. If x = _______

A. 4

B. 8

C. 2

D. 1

= log3 log2 log2 256, then2log4 22x

https://dl.doubtnut.com/l/_Msv0JpsXKxUt
https://dl.doubtnut.com/l/_gWedzjvxgFgo


Answer: C

Watch Video Solution

8.  then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

if loga( ) = 2 loga 13 − loga 5 − x
132

√23 × 5

ax = 23 / 2

xa = 23 / 2

ax = 22 / 3

xa = 22 / 3

https://dl.doubtnut.com/l/_gWedzjvxgFgo
https://dl.doubtnut.com/l/_CiIMt7eR4Ng2
https://dl.doubtnut.com/l/_wGxAGvpbTM04


9. If log81 = loga then = _____

A. 4

B. 16

C. 2

D. 8

Answer: D

Watch Video Solution

4(log9 a)

10. if = ______

A. 6

B. 9

aloga = 3then alog b + blog a

https://dl.doubtnut.com/l/_wGxAGvpbTM04
https://dl.doubtnut.com/l/_MJ3hSe4MVXL2


C. 3

D. Cannot be determined

Answer: A

Watch Video Solution

11. if  then x = ______

A. -3

B. 6

C. 6,-3

D. 3,-6

Answer: B

log3(x − 5) + log3(x + 2) = log3 8

https://dl.doubtnut.com/l/_MJ3hSe4MVXL2
https://dl.doubtnut.com/l/_DKb37lhebdD3


Watch Video Solution

12. if log (x+y) = log x + log y , then x= ____

A. 

B. 

C. 1

D. 

Answer: B

Watch Video Solution

−y

1 = y

y

y − 1

y

1 + y

13. If = _____2log 5.5log 2 = 2logxthen log5
3√x2

https://dl.doubtnut.com/l/_DKb37lhebdD3
https://dl.doubtnut.com/l/_7tfXKI9pxFMD
https://dl.doubtnut.com/l/_uGN3zOu4pQMF


A. 

B. 

C. 

D. 3

Answer: A

Watch Video Solution

4
3

3

4

1

3

14. If  find log x.

A. 3

B. 2

C. 4

D. Cannot be determined

3logx + xlog 3 = 54

https://dl.doubtnut.com/l/_uGN3zOu4pQMF
https://dl.doubtnut.com/l/_TJ76nFrye8dw


Answer: A

Watch Video Solution

15. logx - logy = 1 and x+y = 11 ` then x = ______

A. 10

B. 1

C. 11

D. 2

Answer: A

Watch Video Solution

if

https://dl.doubtnut.com/l/_TJ76nFrye8dw
https://dl.doubtnut.com/l/_sDyBcJ0ZyUwk


16. if  then find the value of 

A. 3

B. 7

C. 8

D. 1

Answer: D

Watch Video Solution

log49 3 × log9 7 × log2 8 = x
4x
3

17. the value of  is

______ . 

A. 0

loga− b(a
3 − b3) − loga− b(a

2 + ab + b2)

(a > b)

https://dl.doubtnut.com/l/_7Ln6pDlkO8Sf
https://dl.doubtnut.com/l/_NSN59TRba9Ly


B. 1

C. 3

D. Undefined

Answer: B

Watch Video Solution

18. If  then the value of  is

A. 

B. 

C. 

D. Undefined

log3 2 = x
log10 72

log10 24

1 + x

1 − x

2 + 3x

1 + 3x

2 − 3x

2 + 3x

https://dl.doubtnut.com/l/_NSN59TRba9Ly
https://dl.doubtnut.com/l/_FmFLf8dCZ9KM


Answer: B

Watch Video Solution

19.  =

______

A. -2

B. -1

C. 0

D. 2

Answer: A

Watch Video Solution

log( ) + log( ) + log( ) + …. + log( )
1

2

2

3

3

4

99

100

https://dl.doubtnut.com/l/_FmFLf8dCZ9KM
https://dl.doubtnut.com/l/_um0DD8j3ndK8


20. If  ,then find the value of 

A. -2

B. 2

C. -1

D. 1

Answer: C

Watch Video Solution

x2 − y2 = 1, (x > y)

log(x − y)(x + y)

21. If  then find the value of x.

A. 3

3log3 ( 5 ) + 5logx 3 = 8

https://dl.doubtnut.com/l/_LMaOqmdK30pp
https://dl.doubtnut.com/l/_bVnYZOUCMJfR


B. 5

C. 4

D. 8

Answer: B

Watch Video Solution

22.  =

______

A. 

B. 0

C. 1

D. Cannot be determined

log2 1. log3 2. log4)3. log5 4. log6 5……. log200 199

∞

https://dl.doubtnut.com/l/_bVnYZOUCMJfR
https://dl.doubtnut.com/l/_UXNZCikTBp4T


Answer: B

Watch Video Solution

23. If  then find the value of 

A. 

B. 4

C. 

D. 2

Answer: C

Watch Video Solution

x2 + y2 − 3xy = 0 and x > y

logxy (x − y)2

1

4

1

2

https://dl.doubtnut.com/l/_UXNZCikTBp4T
https://dl.doubtnut.com/l/_c9fMgvOQ7c1q
https://dl.doubtnut.com/l/_Gcl7WAWyjDcn


Level 3 Mcq

24. If log3= 0.4771, then find the number of digits in 

A. 47

B. 48

C. 49

D. 50

Answer: B

Watch Video Solution

3100

1. If , then =

______ .

log5 x − log5 y = log5 4 + log5 2 and x − y = 7

https://dl.doubtnut.com/l/_Gcl7WAWyjDcn
https://dl.doubtnut.com/l/_cL8griyGAYPV


A. 1

B. 8

C. 7

D. 6

Answer: B

Watch Video Solution

2. If , then x= ______

A. 24

B. -10

C. 24,-10

D. 10

log2[ − 1 + √x2 − 14x + 49] = 4

https://dl.doubtnut.com/l/_cL8griyGAYPV
https://dl.doubtnut.com/l/_2jARGk3Wfusw


Answer: C

Watch Video Solution

3. if  then k =

______

A. 14

B. 

C. 

D. 2

Answer: C

Watch Video Solution

= = = knadpqr = 100,
logP

2

logq
4

log r

8

1

6

1

7

https://dl.doubtnut.com/l/_2jARGk3Wfusw
https://dl.doubtnut.com/l/_buhnfEZ97shk


4. If  then log 150 =

______

A. 2.1761

B. 2.8751

C. 2.5762

D. 2.6126

Answer: A

Watch Video Solution

log 2 = 0.3010, and log 3 = 0.4771

5. If  , then the value

of  is

log10 2 = 0.3010 and log10 3 = 0.4771

log10( )
23 × 32

52

https://dl.doubtnut.com/l/_UYmPzePm3S35
https://dl.doubtnut.com/l/_k3Pci7pWLDDB


A. 0.4592

B. 0.5492

C. 0.4529

D. 0.5429

Answer: A

Watch Video Solution

6. The value of 

equals

A. 2

B. 0

C. 1

+ +
1

1 + logab c

1

1 + logac b

1

1 + logbc a

https://dl.doubtnut.com/l/_k3Pci7pWLDDB
https://dl.doubtnut.com/l/_LbM1EP6iHcZ3


D. log abc

Answer: A

Watch Video Solution

7. if  = _______

A. 4

B. 3

C. 2

D. 1

Answer: C

Watch Video Solution

x2 + y2 = z2, then +
1

logz +x y

1

logz −x y

https://dl.doubtnut.com/l/_LbM1EP6iHcZ3
https://dl.doubtnut.com/l/_E8DxxQp2tbwB


8. If log2 = 0.301 then find the number of digits in .

A. 307

B. 308

C. 309

D. 310

Answer: C

Watch Video Solution

21024

9. If  then find the value ofx2 − y2 = 1, (x > y)

logx−y(x + y)

https://dl.doubtnut.com/l/_E8DxxQp2tbwB
https://dl.doubtnut.com/l/_uxrdsuIRZvwS
https://dl.doubtnut.com/l/_xDAu5XgHtByU


A. -2

B. 2

C. -1

D. 1

Answer: C

Watch Video Solution

10. If  then find the value of 

.

A. 

B. 4

C. 

x2 + y2 − 3xy = 0 and x > y

logxy(x − y)

1

4

1

2

https://dl.doubtnut.com/l/_xDAu5XgHtByU
https://dl.doubtnut.com/l/_Oq1VBdVJOgZr


D. 2

Answer: C

Watch Video Solution

11. then x= _______

A. 9

B. 8

C. 3

D. 2

Answer: B

Watch Video Solution

if 2log3 9 + 25 log9 3 = 8 logx 9

https://dl.doubtnut.com/l/_Oq1VBdVJOgZr
https://dl.doubtnut.com/l/_i8OjS72Vjs1J


12. If  then x= ______

A. 

B. 

C. 

D. (mn)/(n-m)`

Answer: D

Watch Video Solution

loga x = m and logb x = n log a

b

m

m − n

mn

m − n

n

m − n

13. =

A. 

log5 6

log5 2 + 1

log2 6

https://dl.doubtnut.com/l/_i8OjS72Vjs1J
https://dl.doubtnut.com/l/_HmcY0VibOzck
https://dl.doubtnut.com/l/_6gEHtu4tD1jP


B. 

C. 

D. 

Answer: C

Watch Video Solution

log2 5

log10 6

log10 30

14. If x =  then  = ______

A. 

B. 

C. 3

D. 1

log3 27 and y = log9 27 +
1

x

1

y

1

3

1

9

https://dl.doubtnut.com/l/_6gEHtu4tD1jP
https://dl.doubtnut.com/l/_MUbETytvJfHn


Answer: D

Watch Video Solution

15. If  then x = ______

A. 6

B. 36

C. 216

D. None of these

Answer: C

Watch Video Solution

log6 x + 2 log36 x + 3 log216 x = 9

https://dl.doubtnut.com/l/_MUbETytvJfHn
https://dl.doubtnut.com/l/_Rrer29VugEb1

